&7/~ DIRTFREAIC APPLICATION by MODEL

YAMAHA
WR250R/X

Bike | Year | Description | Part number
ZETA
WR250R/X 07-20 Top Clamp SX Blue ZE11-4252
WR250R/X 07-20 Top Clamp COMP Blue ZE12-4252
WR250R/X 07-20 Triple Clamp Kit SX Blue ZE14-4252
WR250R/X 07-20 Triple Clamp Kit SX Blue ZE14-4252
WR250R/X 07-20 RX-Clamp Kit W:100 ZE32-4045
WR250R/X 07-20 RX2-Clamp Kit ZE32-4245
WR250R/X 07-20 COMP Stabilizer W100 ZE33-2100
WR250R 07-20 Pivot Lever <Brake> CP 3-Fin ZE41-3161
WR250R 07-20 Pivot Lever <Brake> CP 4-Fin ZE41-4161
WR250R 07-20 Pivot Lever <Clutch> CP 3-Fin ZE42-3160
WR250R 07-20 Pivot Lever <Clutch> CP 4-Fin ZE42-4160
WR250R 07-20 Pivot Lever Set CP 3Fi Black ZE44-8011
WR250R 07-20 Pivot Lever Set CP 3Fi Blue ZE44-8012
WR250R/X 07-20  Aluminum Throttle Tube STD ZE45-5001
WR250R/X 07-20 Aluminum Throttle Tube Quick ZE45-5101
WR250R/X 07-20  Aluminum Throttle Tube Closed ZE45-5201
WR250R/X 07-20 Throttle Tube Closed End ZE45-8001
WR250R/X 07-20 Throttle Tube Open End ZE45-8101
WR250R/X 07-20 FrameGuard ZE52-0322
WR250R 07-20 Front Disk Guard Mounting Kit ZE52-1470
WR250R/X 07-20 Radiator Guard ZE52-2332
WR250R/X 07-20 ED Skid Plate ZE55-2400
WR250R/X 07-20 Side Stand Extender Blk/Slv ZE56-6610
WR250R 08-20 Forged Aluminum KickStand STD ZE56-8619
WR250R 08-20 Forged Aluminum KickStand Option&Rep.Tip 30mm ZE56-8909
WR250R 08-20 Forged Aluminum KickStand Option&Rep.Tip 55mm ZE56-8919
WR250R 08-20 Forged Aluminum KickStand Option&Rep.Tip 80mm ZE56-8929
WR250R 08-20 Forged Aluminum KickStand Option&Rep.Tip 105mm ZE56-8939
WR250R/X 07-20 Magnetic Drain Bolt M12x15-P1.5 Blue ZE58-1522
WR250R/X 07-20 Magnetic Drain Bolt M12x15-P1.5 Red ZE58-1523
WR250R/X 07-20 Stem Nut M24x30-P1.5 H14 Black ZE58-2151
WR250R/X 07-20 ' Stem Nut M24x30-P1.5 H14 Blue ZE58-2152
WR250R/X 07-20 Stem Nut M24x30-P1.5 H14 Red ZE58-2153
WR250R/X 07-20 Drive Cover Blue ZEB80-9614
WR250R/X 07-20 Chain Guide Blue ZEB82-1386
WR250R 07-20 Brake Reservoir Cover <Front> Blue ZE86-1501
WR250R 07-20 Brake Reservoir Cover <Front> Red ZE86-1503
WR250R 07-20 Brake Reservoir Cover <Rear> Blue ZE86-5101
WR250R 07-20 Brake Reservoir Cover <Rear> Red ZE86-5103
WR250R/X 07-20 Tank Holder Washer Kit Blue ZE88-1004
WR250R/X 07-20 Tank Holder Washer Kit Red ZE88-1005
WR250R/X 07-20 Tank Holder Washer Kit Gold ZE88-1007
WR250R/X 07-20 Fork Guard Bolt Set 6pcs Blue ZE88-9416
WR250R/X 07-20 Engine Plugs Red ZE89-1410
WR250R/X 07-20 Engine Plugs Blue ZE89-1412
WR250R/X 07-20 Qil Filler Plug Red ZE89-2110
WR250R/X 07-20 Qil Filler Plug Black ZE89-2111
WR250R/X 07-20 Qil Filler Plug Blue ZE89-2112
WR250R/X 07-20 Rear Brake Clevis Blue ZE89-5154
WR250R/X 07-20 Rear Brake Clevis Red ZE89-5155
WR250R/X 07-20 OQil Filter Cover Blue ZE90-1312
WR250R/X 07-20 Revolver Shift Lever Blue ZE90-3346
WR250R/X 07-20 Revolver Shift Lever Rep. Tip Mount Straight Blue ZE90-3906
WR250R/X 07-20 Revolver Shift Lever Rep. Tip 28mm Ti-Color ZE90-3930
WR250R/X 07-20 Forged Shift Lever Blue ZE90-4346
WR250R/X 07-20 Trigger Brake Pedal Blue ZE90-7346
WR250R/X 07-20 Front Brake Line Clamp Red ZE92-4106
WR250R/X 07-20 Front Brake Line Clamp Blue ZE92-4107
WR250R/X 07-20 ' Aluminum FootPegs Blue ZE93-1663
WR250R/X 07-20 Rear Axle Block Blue ZE93-5312
WR250R/X 07-20 Rear Axle Slider Black ZE93-6750
WR250R/X 07-20 Rear Axle Slider Blue ZE93-6753
WR250R/X 07-20 Clutch Cable Guide Blue ZE94-0682
Z-CARBON

WR250R/X 07-20 Front Fork Wraps 52x160mm ZC35-4332
WR250R/X 07-20 Front Fork Wraps 52x225mm ZC35-4336
WR250R 07-20 DC SUS Spoke Set <Front> DC423-1135
WR250R 07-20 DC SUS Spoke Set <Rear> DC423-5174
WR250R 07-20 R50 Rim 18-2.15 36H-1 Black W01-64411
WR250R 07-20 R50 Rim 18-2.15 36H-1 Red WO01-64413
WR250R 07-20 R50 Rim 18-2.15 36H-1 Green WO01-64414
WR250R 07-20 R50 Rim 18-2.15 36H-1 Silver WO01-64418
WR250R 07-20 R50 Rim 21-1.60 36H-1 Black W01-92411
WR250R 07-20 R50 Rim 21-1.60 36H-1 Red W01-92413
WR250R 07-20 R50 Rim 21-1.60 36H-1 Green W01-92414
WR250R 07-20 R50 Rim 21-1.60 36H-1 Silver W01-92418
WR250R 07-20 M50 MotardRim 17-3.50 36H-1 Black W03-57411

WR250R 07-20 M50 MotardRim 17-4.50 36H-1 Black W03-59411



&7/~ DIRTFREAIC APPLICATION by MODEL

| Year | Description | Part number
Z-WHEEL

WR250R 07-20 Steel Spoke Set <Front> W10-17340
WR250R 07-20 Steel Spoke Set <Rear> W10-17740
WR250R 07-20 SUS304 Spoke Set <Front> W10-27340
WR250R 07-20 SUS304 Spoke Set <Rear> W10-27740
WR250R 07-20 SUS304 SM-Z Spoke Set 17" 36pcs <Front> W13-17511
WR250R 07-20 SUS304 SM-Z Spoke Set 17" 36pcs <Rear> W13-27511
WR250R 07-20 SUS304 Spoke/Nipple F/R Set W16-37031
WR250R 07-20 AR1 Wheel Kit <Front> 1.60-21 W21-47511
WR250R 07-20 AR1 Wheel Kit <Rear> 2.15-18 W21-57551
WR250R 07-20 M50 Motard Rim Set <Front> W26-17511
WR250R 07-20 M50 Motard Rim Set <Rear> W26-27511
WR250R 07-20 AR1 Motard Wheel Set <Front> W27-17511
WR250R 07-20 AR1 Motard Wheel Set <Rear> W27-27511
WR250R 07-20 ' Aluminum Nipple P3 36pcs Silver W31-P3368H
WR250R 07-20 Aluminum Nipple Q4 36pcs Silver W31-Q4368H
WR250R 07-20 Zigram Rotor <Front> SUS W51-10335
WR250R 07-20 Zigram Rotor <Rear> SUS W51-20335
WR250R 08-20 Brake Hose <Front> Clear Black W61-13011
WR250R 08-20 Brake Hose <Front> Blue W61-13012
WR250R 08-20 Brake Hose <Front> Red W61-13013
WR250R 08-20 Brake Hose <Rear> Clear Black W61-25011
WR250R 08-20 Brake Hose <Rear> Blue W61-25012
WR250R 07-20 B-Disk FlangeBolt Set 6-M6 16mm 6pcs ZT31-5706
WR250R 07-20 Sprocket PanHead Bolt/Nut Set M8 28mm 6pcs ZT34-2706N
WR250X 07-20 Sprocket PanHead Bolt/Nut Set M8 28mm 6pcs ZT34-2706N
WR250R/X 07-20 Chain AjusterBolt/Nut Set M8 50mm 2pcs ZT38-5501
WR250R/X 07-20 Axle Shaft <Front> ZT60-4173
WR250R/X 07-20 Axle Shaft <Rear> ZT60-4273
WR250R/X 07-20 Flange Bolt Set M8 35mm 2pcs ZT83-2352
WR250R/X 07-20 Flange Bolt Set M8 35mm 4pcs ZT783-2354
WR250R/X 07-20 Flange Bolt Set M8 40mm 4pcs ZT183-2404
WR250R/X 07-20 Dura-Light Sprocket <Front> 520-13T D331-548-13L
WR250R/X 07-20 Dura Sprocket <Rear> 520-42T D34-52-042
WR250R/X 07-20 Dura Sprocket <Rear> 520-43T D34-52-043
WR250R/X 07-20 Dura Sprocket <Rear> 520-44T D34-52-044
WR250R/X 07-20 Dura Sprocket <Rear> 520-45T D34-52-045
WR250R/X 07-20 Dura Sprocket <Rear> 520-46T D34-52-046
WR250R/X 07-20 Dura Sprocket <Rear> 520-47T D34-52-047
WR250R/X 07-20 Dura Sprocket <Rear> 520-48T D34-52-048
WR250R/X 07-20 Dura Sprocket <Rear> 520-49T D34-52-049
WR250R/X 07-20 Dura Sprocket <Rear> 520-50T D34-52-050
WR250R/X 07-20 Dura Sprocket <Rear> 520-51T D34-52-051
WR250R/X 07-20 Dura Sprocket <Rear> 520-52T D34-52-052
WR250R 07-20 ' Stock Replacement Lever <Clutch> STD D40-01-706
WR250R 07-20 Stock Replacement Lever <Clutch> Short D40-03-706
WR250R 07-20 Stock Replacement Lever <Brake> STD D40-11-606
WR250R 07-20 Stock Replacement Lever <Brake> Short D40-13-606
WR250R/X 07-20 Radiator Hose Kit Blue D47-01-722
WR250R/X 07-20 Radiator Hose Kit Red D47-01-723
WR250R/X 07-20 FootPegs Spring/Pin Set17 D48-01-111
WR250R/X 07-20 Wide Foot Pegs CrMo Low D48-02-437
WR250R/X 07-20 Wide Foot Pegs CrMo Mid D48-02-537
WR250R/X 07-20 Wide Foot Pegs CrMo High D48-02-637
WR250R/X 07-20 Motard Foot Pegs CrMo D48-02-937
WR250R 07-20 Stainless Brake Pin A-Type 52mm D58-33-074
WR250R 07-20 Stainless Brake Pin C-Type 31mm D58-33-091

WR250R 07-20 Stainless Brake Pin Set 2pcs A52,C31 D58-33-232



	wrr1
	wrr2

